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1
H- VVNAMM r-

3.2
32 '
(Tapped - off Load Current) il ,
C/ AR *
1 2
L+ * 7S 7,
71 71 1 2

Power Factor

Shunt Capacitance Current

x =0 X = |/



k
71
1 = 102+ dl
T Al
1 =
dl
I ,"'a')z U.r
@) ()
0 = | 1- kdx
[ 1 I 1 kax

| = | 1+ kdx

X=¢
/ |- kxt
s | +kxf
| 0
| l,-kx 1
k |

(/) X
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Circuit Breaker

e ®

Disconnecting Switch

Tie-Switch

Eh/-

3.3

(Branch)

22



l'in

I zone
34 (Branch)
Z = R+jX
11
| an
Lone
34
I Lone
=y, Fr= 1y
©)

L — L -** %

k = 1in' 1 out = Izone
£ £

X

K — M- k X X

I x L -1 g0ne X

| out

1—‘—)

17)

(18)
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dv =1 xX Zdx

VD

ZD

13)

dv

( X Zdx

I z (/in - /zone X) *

2 X (1 X - Ly X2)

LY L/mx-//m- /ou,]X

2/

= 2141 m)

ZT (Iin+ ]DUD
)

Z H ljp + 10

Z &lin + /oull)

Power Factor

(15)
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(21)
VWO = (R+jX)(cos6 -jsin0)(/T+ 101)
2
= (/2+200) [ (Reos6 + Xsin6 ) +j(Xcos6 - Rsin#)] .ovverveen (22)
2
VO = ([ THTWD(RCOSE + XSINT) i (23)
2
1
Z1 2 Z3
| I I
Izonel zone2 zone3
35
.1 1+7(09)  Q/phase
Z 15 +](0.8) Q/phase
3 12 + (0.85) Q/phase
zonel 1 A Une
"z0ne2 L5 A line
Agone3 12 A line
PF. 08  Lagging



Aout3 0 A

An3 o ~out3 Nones
He = B o3 12 A

(1) e = g, o= 12A
A2 "out? "z0n€2
Ain2 Kua + 7zone
12+15 = 24 A
1
2) Joiii g% 2.7 A
Ainl - “ontl onel
h, = loutl +  zonel
2.71+1 = 3T7A
&)
W = (L4 10){Rcosd + XsinQ )
2

VDL (L4+ 10X RLos0 + XLin6 )

2
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FD,

VD3

YVD

(3.7 +2.7)0 X 08 + 0.9 X 0.6)
2

4288V plesc

(112+10 "Rf°50 + X%ino )

2
(2.7 + 1.2)(1.5 x 0.8 + 0.8 x 0.6)
2

5-07  V feC

(1.18+ 1By Rfos6 + X3in0 )

2
(12 + 0) (1.2 x 0.8 + 0.85 x 0.6)
2

0.882 v phase

VD1+ VD2 + VD3
4.288 + 5.07 + 0.882
1024 v phae

3.6

21
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Z1 z2 Z3
A
i 1 i
zonel 1720ne? 120ne3
za — > a110ned

3.6
71 7 17+ 0.9 Q Iphase
12 4 2 +] 18 Q /phase
13 : 15 +j 1.35 Q /phase
4 12 +j 108 Q/phase
phase
nonel -5 AL
None2 i AL
N3 -5 Al
noned  * 2 AL
PF. = 0.8  Lagging
nutd 0 A

11 1 1 Oiitl' 70ned



in

VD

AUt3

Nn3 Aoutd T

Ls

Aout2

Vind - T oud

Ajni

out

hn?2

Aoutl

Aoutl

LI

(¢1 + Kuli)RCOSO + XEing )

Aoutd zoned
0+2 =2

Az0ne3

AUt3 Azone3
0+1.5 =

m3 ind
15 882 =
L 0ne2

Lot * Vaoned
J 5wl N =

Tin2
Az0nel

Louti2*  z0net
45 + 15 =

15

3.5

4.5

45 A

(6 + 4.5)0 X 08 + 0.9X0.6)

7.035

Vv

phase

A

A
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VD2

VD,

VD4

(7, + 127 RE°s9 + Xx251n0 )
2

(45 + 3.5)(2x 0.8 + 1.8 0.6)
2

1072V pae

(4,3"‘4,/3XRf 059 +x1sm9 )
2

(15 +0)(15 x 0.8 + 135 x 0.6)
2

15075 v phesc

(114 + loumX R4COS9 + x/ In0 )

2
(2 +0)(1.2 x 08 + 1.08 x 0.6)
2

1-608 v plisc

kVA

kVA

30



Ih 1ot
120ne Iteration
Z1 z2 Z3
Branch 1 A Branch2 Branch3
1 1
azonel 1720Nn¢2 120ne3
za — > 1710ned
Branch4
/zone
Vv 380 V linedine
VA 05 + )04 Q /phase
Load = 0.5 kVA P.F. 0.8 Lagging
VA 08 +j0.64 Q /phase
Load = 0.8 kVA P.F. 0.8 Lagging
Z 05 +j04 Q /phase
Load = 0.5 kVA P.F. 0.8 Lagging



Vv

Mzonel

Azone2

Azone3

= 380V ine-ling

Load =
1
vr V1
A
cB 1 Switch
azonel
3.8
3.8
/zone
- 500
oVl v X380
2 ; 800
o V2 ./ Xsso
= - 500
V3

./ Xsso

1+j08
0.6 kVA
v2'
‘][
1zone?
\Z
V4
1

32

Q /phase

"t h 0.8 Lagging
V2 V3 va
I |
1zoned
1zoned
-L

0.75967 A

1.21547

0.75967

A

A



z0ne4

VD,

hone

lin

vié

outd

ind

0iit3

ini

out2

in2

outl

Tini

Lot

600 091161 A
V] X380
Liin ot
0 A
loutd: * boned:
0 + 091161 = 091161 A
0 A
Mout3  "zone3
0 + 0.75967 = 0.75967 A
Im3 * Ling
091161 +0.75967 = 167128 A
loup* 1z0ne2
1.67128 + 1.21547 = 2.88675 A
oy 2.88675 A
Moutl  "zonel
2.88675 + 0.75967 = 3.64642 A

Viini +loui )(R,cosd + X1 ,0)

2
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(3.62642 + 2.88675) (0.5 « 0.8 + 0.4 X 0.6)
2
2-09061 v, w

VD2

(,2+hul XR2%o0s9 +x7sin9 )
2

(2.88675 + 1.67128)(0.8 X 0.8 + 0.64 X 0.6)
2
2.33371 v p_

glin3 + lou,3"Rf°s9 + 377776> )
2

(0.75967 +0) (0.5 X 0.8 + 0.4 X 0.6)
2

0.24309  V pW

VDt {1 4+10 4x R4cos9 =+ )

2

(0.91161+0)0 X 0.8 + 0.8 X 0.6)
2

0.58343 X phase

q L0ne

F&>;' = 1lm x (RXos6 + Xkine ) = 3.64642 X (0.5 X 0.8 + 0.4 X 0.6)
2 2
= 1.16685 V

phase



VD2' = 1.2 X (R2cos0 + XfinO ) = 2.88675 x (0.8 x 0.8 + 0.64 x 0.6)
2 2
= 1-47802 V phase

vD3' = 1.3 X (RX0SO + x3in6 ) = 0.75967 x (0.5 x 0.8 + 0.4 x 0.6)
2 2
= 0.24309 x phase
VDi = it X {Récoso + X4in0 ) = 091191 x (1x 0.8 + 0.8 x 0.6)
2 2
= 058343 V)W
3.8
1 = V - VD, = 380/-33 - 2.09061 = 217.30249 A ppage
" - . vd2 = 217.30249- 2.33371 = 21496878 Vg,
. = yg . vdd = 21496878 - 0.24309 = 21472569V g
v - /2. VD4 = 214.96878 - 058343 = 21438535V
q IZOHE
v V- VD1 = 380/V3 - (1.16685) = 21822625V
< = 1. VD2 = 217.30249- 1.47802 = 21582447V
N - . VD1 = 21496878 - 0.24309 = 21472569V e
V2 - VD'l = 214.96878- 0.58343 = 21438535V e

= \v,-v,\ = 2.09061

T 0 355.57



av?

av3

AF,

l zone21

Lm1
|oun
112
10112
| 13

Lou3

IM

Loutd

v -y
1\/ T\
ﬂ-y vl
500
3 xF
500
3 XF
500
3 xF
600
I xF
= 3.70839
= 2.94466
= 2.94466
= 1.70908
= 0.77618
0
= 0.93290
0

4.42432

4.66741

5.00775

1
500
3 X 218.22625

500

3 X 215.82447

500

3 x 214.72564

600

3 x 214.38535

v

v

v

phase
phase

phase

V5)

0.76373

1.23557

0.77618

0.93290
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V2

vl

V30

V40

AV2

ava

>
1

[nteratc

S =<
1 11

211.26413 Ve
21488141 v
21463303 V e
21463303V e

21820642V .,
25TH6 Ve
21463303V
21428436V

AT3049 7
214.9878 V1
24T569 A
21438535V,

\y,o_ y,\ = 003836 Vphase
0. M 0.08737 Ve
\v30- s\ K 0.09266 Vphase

A A - 0.10099 Ve

2
Interate 5

217.26334  VpW AVl
21481962 V)W AV2
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311498 « 70'7
115098 x 107 VIO



V3
v4

214.63113
21428227

AV3
Av4

71.58672 x 10
8.29854 X lo'7

Load Profile
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